s 25 > B SRR,
SEEVAETY - BEMESTHEIERX

o

»
» . |




ME - =28 5/ FALXN

il

%;?
@ =
ERERTEE T B A A BR SRR T - FRTEDA B = AR B L O se i (R
L SRR = P - (BT AT AT » S A (3 2 PAIE S o S ) = 8 S 1
2 18 AT 475 = e R T DA A R B B P 5 M AR P A TR E G e
SRS R = F SR BAER ? AL 0 S B G HOAE ST 25 (B e S B e = F o
{7 LA & P BB A FET S 4 -

L asas

sin(a + ) = sinacos  + cos asin 3
cos(a + ) = cosacos 3 — sinasinf3

tana + tanf3
— tana - tanf3

tan(a + B) = 1

Proof of sin(a+ B)
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sina = DE -sinf =ﬁ’cosﬁ = OF » ~BCF=2BOA= «
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ﬁ - CF: sinf8

cosa cosa
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BA = OB x sina
= (OF —BF) X sina
=(cos B — CB x sina) x sina

:(cos,[>’—smi X sina) X sina

cos

. . 2

. sin p Xsin“a
=cosf X sina — sin pxsin"a
cosa

sin fx(1—cos?a)

=cosf X sina —
cosa

sinf | sinf Xcos?«a

=cosfB X sina —
cosa cosa
) sinf

= cosf X sina —
cos

+ cosa X sin 8

sin(fa +B) = CA = CB + BA
:M+cosﬁ x sina — 22£ 4 cosa x sinf8
cosa cosa

=sina cos B + cosasinf
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cos(a + B) = OA=cosa x OB
=cosa x (OF —BF)

=cos a X(cos 3 — %

X sin a)

=cosacosf —sinasinf
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sin(a-B)=sin(a+(-B))=sinacos(-f)+cosasin(-)=sinacosf-cosasinf3
cos(a-B)=sin(a+(-f))=cosacos(-f)-sinasin(-B)=cosacosf+sinasinf3

tana — tanf3
1 + tana - tanf3

tan(a — B) =
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Proof

. . . ) . 2tana
sin 2a = sin(a + a)=sina cos a + cos asina = 2 sin o cos e —

cos 2a = cos(a + a) =cos?a —sin2a= cos?a —(1— cos2a)=2 cos?a —1

=1-—2sin%a
_1—tan20c
" 1+tan2a
5 2tana
tan2q¢ = ———
1 — tan?a
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cosQ = COS(% + g) = 2cos? % — eeeeeeenenes (1)
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Sing — i 1-cosa
2 2
cos @ _ " 1+cosa
2 2

tang _ i ,1—cosa _ sina _ 1—.cosa
2 1+cosa 1+cosa sina
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sin3a = 3sina — 4sin’a

cos3a = 4cos’a — 3cosa
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C IRET

BIRE 1 | sin74°cos46° + cos74°sind6°

BIRE 2 | c0s280°c0s200° — sin100°sin160°

S cosa =2 sing = == H 270°< @ <360°  180°< f <270°

BIRE3 |
aloK sin(a — B) LK cos(a — )
R 4 AABCE—BESWIE=AF » —AWNE—%D » #%5AD=4 > BD =3

Hi cos < CAD =

3 1 — _ -
e 5 AABCH > ELA1 COSA=C CosB=_—» AC =7 HIjsk
(1)2C= () AABCZANMEEIEE  (3)AABCZIHITE

WBIRE 6 | AABCH > %tanA% ; tanB=§ s HI| 2 C=

BIRE7 | 2% 00329% » HI| 4(cos®d — sing)=
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sin74"cos46°+cos74°sin46°=sin(74"+46°)=sin120°=\/7§

78 2 : c0s280°c0s200°—sin100°sin160°=sin10°(-cos20°)—sin80°(sin20°)
=-sin10°cos20°-cos10°sin20°
=-sin(10°+20")=—"

B8 3 : 270° < a <360°H cosa = % s sina = -

:|.800 < IB < 2700H Slnﬁ = _1175 ) COSﬁ — I_j
sin(a—P) = sinacosp - cosasinp = (_?4)( 1—3)- (E)( "1_175’):%
cos(o-P) = cosacosp + sinasinp = (z)( ;—s)+ (_?4)( _1_175): %
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FHE A4 cosf = % sin ==

cos 2 CAD=cos(60°—0)
=c0s60°cosf+sin60°sind

_ 4+3V3
10

4, V3 3
AL
5 2 5

N |-

= . _E’ _L . _i’ . _ 7
TﬁﬂéS.E‘%ﬂcosA—S cosB_Sﬁ:>smA—5 smB—Sﬁ

(1) cosC = cos(180°—(A + B)) =—cos(4 + B)

=-(cosAcosB —sinsinB)

=== ./C=45
(Q)EZER A = = = —— =2R HAREINEE
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2
(3) AABCfif¥i= 7 acsinB=14

Bl 6 : tanC=tan(180"—(A4 + B))=-tan(A + B)

1,1
tanA+tanB 273 _ 1
" 1-tanAtanB 1_%% -

BIRE 7 - 4(cos’@ —sin®A)
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